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I, 1ftE, hai d t9, 3)/uc\lic cndepoirttsof adiamcter
of acircle,” tlleit Thc cculze™ofttu circte i;

(A) (14. 10)
@ @y
P yi
(D] (- 5.—7)

2. FiHd Um e jle dipiluf Ule ekpression

1l 10l + 16
(A 1 .
(@ o e S.T‘ T
() 6 L )\l
Dy z.'.'?(--*"f‘ L-
M n
2y
3. What is the difference in per cent, betwiign
and -S—'? =
o
(A) 4% i Lo
2 3 B, -
(B) 3.47% rorl AP
(C) 3-97W S b DN
L T
(D) z-987B L _ﬂ;

4. An amount of Rs, 450 is being divided among
two persons in Lhe ratio Zlo ; 215 . How much does each

(2)

1. el 3o e m@ﬁm{j.?;ﬂ{g.ﬁﬁtﬁﬁm
3 TR
(A (14, 10}
(B) (4,4)
(€ (7.5)
(L¢ -

2 1 12 1P 1 150 qus‘za'f-m.sm

VA WS g2 o ‘~r_f-£_+-ﬂ_1:[1
(A) 1 Ty

(€)1
(D) 9 =

3, 1_3':6: am %,_ﬁ g sy & fEATEE AT #E 1

{B) 34T
(C) L17A
(U) 29B7&

:, 1.1

CRAT T cvers 41T E TEm A 9T

= PE Y =0E

get (in Rs.)? i o (A) fi0  4fXI
(A) SU And 400 g " "J‘: & 8> ioo ur: lso
(B} 3Hland 150 R S 4
("} . an -::::?,%%‘ 4 7 _. (Cl 100M 350
(ci v and 350 s ot L (D) 250« 200
b) isn-sa za W 5

5. Wharis Lhe Jcastpossib]e num*‘er w*j"* ~>11<

y tt L7, 23, 3Zsu dval Lhu zustilting numbcn
Are in cootli3uCd propartion |

(A) 4.

B) 6

< ?

5. e @R R 17, 23 99t 32 cone Ronst =
il Restols TwE e gy

tA) 4
tB) 6
€ 7
(D) 5

() *
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¢ N ®h» @1 «»K the rice at Rs. 16.4 per kg be
mixed withrice at Rs. 21-8ge'*('g'ne'ui* p«=vo*m
rmixture is Ry, 20 per kg?

(A} 16:9
(B)9:16
() 817
oy 178

7. A+B=3U. Aincreases try 157 and B dcruoses
by 209, what is the value of B il A — B = 38 after the

change’ £
R 3.
(B) i0 .;ﬁﬁi‘? L 2T
. ':f+ .j'ﬂc-
(C) & C
{1¥ 3
be>

d0% r#d annul A ia added to anal

num&«D. 13 bee 2 r]5 pm I ousdue. FM
1ht rrldtrrn hrloy@e¢ 0 tC 0 Ml g,
(A) A=2125H
B) A=H
(C).4=2B
(D} A=158 o
:_-.I'fl

9. z\ man had five child. When lbciraverage yc

was fi ycsn. 3 hild w i dor«.wnat is tlle web fivenigg
{in years)?

w |
(B) 5
(C) 2
(D) G

J0. Tnsleadofadding8toanumber,akeh ktsubtracrecf
g fru rt il Find tZio percentage chwgc."Zn thc result

(8] Tee.

(C) cannot bo determined

(0) 200 \‘@"t-

(3)

IMAT
6. 16-8 5 S FFE-2 B Wi 21-8 B afe i
W Al syt Gt fis s ofs c@féea 39 20 5
A
(A) iR!9
(R) 9.16
(C) b:]7"
(D) i7-B
bp +S= 4, ;S@ wsn«ré g, M« swee 1

A —D =36 T SEF B-d@ W T §

(B) 10
L) s
(M 5

s. 06Rew! A-«x Gfz @  a «rrfzaax ana ey

0dm <ae.z«m ma S$tacez2o»wreSeewaerze
E1c]

1A) A = 225B l
{@ A =R . =
(€} A=1B 3°
(D) A=15g 2 e
9. % e 215 AEF | 999 TR MG 958 6 74T TR
R A WRET A | B0 T 5TE T 8 (SR §
(A) I
(B} 5 ~ i
() 2 \er® 5
@) 6 i

\ 7

.'H-ai
10, =% LT Atar A & e w wfEad 8 foem Ly

P CE | 21 W St TE s e

(A) 8
(B)
(<)

v

o zmﬁw 100
) e
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Jaf-f 7

le I1 ¢ avlra#l' LIT five Jir'T0rdiil xliliivi iillc@lrh ie
St What i the greatest possible value of one of the
i.lllc:g::r:s‘.’
(A) 240
(B} 246
(Cl 244

12. A soiuuon of72 li res. contains milk and water il
OteraNo 8 N.Tf*4 "lilcc5  of water is added fo the
solunnn. the radn becon es 1 = 1. Find the value of X,

(A) 2 0
(B) 3 ﬂé-r. _
(Cl 1 _4';1 o °
(0} 4 /

k2

13. If6A = 7B and 5A = 3C, the ratio of B and C is

fA) 6:7
[C,:I Is o 35 ‘.-'Q:J I__,_x '-"!_'{."r.: .{? ,
m]’ 35 q_ Fav B ."'.1__: 'I ) ..'l..p'.

L
{.L'?*-"" )

dl
14. If r<0, whatisthe maximum value of 41 =
{A) =2 s g
‘B) o 1 Na? -'-.—

z ] —
15. The value of p satisfying IDSJ{F +2p »rIZ}_ 3

-

(A) =5,3 ,‘@
(B) 5.3 o

() 5,-3 e
(D) —-5,-3

LL NS

I'FL—""I.

(4)

'-v,| "f""a-”f' f"ﬂ }"

(1, oG Faar i yrsfira 4 507
syre AT e enh “EAE
(A 2L
(1) 246
((C) 244
(13 5t

wonfs weAm W o B A0 ry H o X R

¥ by
ll 75 v !;-rr'-_'a-‘(.r’ar ‘.ﬂTr'-""-.‘r-' I 1

aifie s 2 [erSra et AT ST
Kol W FEY

{2

fBt f

[yl

{4

13, 3 6A = 7B @1 &M SA = 3C T HEF B & C-57

(&) 6:7
(B) 7:6
(Cp 1E:35
(D) 31 13

14, e x < 0 ¥ 2EE ~’-ri—~—‘-‘+—'~£?.: FHd s I LY

Ay =2
Bl — 1

) <)

{2 !
15, p-&d (4 G o Iugll'p +2p+ ]:} =)o

A) —fi, 1
IB) 5,3
fCj 5, - 3
(3) -5, -3

g
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i "“w ':‘"'" L
i - 5 "8
. Ay i L
A L=A3) L:I‘" e - [\ ) t{a_'- oMz |
b
= 4 ix T
16, Find the v; f 167, 4yt = 256 , i
b Find the value of x if 167, 45* = T 16, ]ﬁ’_qf: 2?2 T x-a? I s
(A) 2, 4 A) z,4
(B 4,8 ’
g B) 4,8
(©) 2.6 2= ((c)) 2.5
() 6,8 (D) 6,B
17. Inant there are 7 men for every 4 women 11. elséa ab4saxTexi7sr a re

and 11 chi[dn:.n t.ﬂ]' c':.'-.‘l:]'_lf f). M. H(:l'-h' man}- WOITEn arc
there in ille island if ii has 539 childwn"

(1144
(B) 294
(C) 252

168

18. The expression a® — 3ab + B* is
for«d<0.b>0
(Aj <0
By »i
{(C) =0

(D any value

i9. What is the oaturs of roois foi uic equatirin,
_axt TEN 17 =0
(A) Real and cqual
(B} Real and distinct
{C) No other is comrect
(D) Imaginary

. Tcn years ago A' s &ge was b8)f of 13’s . ]f Tht
afin of their present agcs ir 3: 4; what w lheir presént
ages (in years)?

(Aj M, 32

(Ci en,41d
(D) "20, 39

-a«r ieRosau mWce/s5s9aaF«o ere ,=mm
et < A ¥ ¢

(A 144
{R) 294
i) 252
(D) *,-”ff J
1s. « «o «a@» 0=a @ o' — JoB *Paéii £ _ffj
(A) <0 F-_—-
=] L '
(C) =0 i
(D) % G e [t
b
|
i
19. _gx2+7f>7- ou 0$i'«lli ea«®®
qErE Eich a}"\
[ ) ottoo,0 ofonre ¥ I.i
tB) « -y
(C) == Giwiog 78 &

(D) @

90, W TEE W A-07 T B3 T = e
BT AERE T TS 3 4 I, T T TR T
@ (TR T :

O
(A) 24,32 :,? =)
|
(B) 15,20 LIF =1 3
tW10,40 o
,_.I"‘ 1.J"" l‘n
(D) 20, 39 WJT
i
o
\n '-") ™ L's ' I ."'-.H h
O .
1 "-»«.—_‘.-:;"__ (},« l.f H_( “-.L cj': ‘l' .
g _,’:‘ . . . -".;




(6)

2L, The diffepe
SUM of money
t

Find - !

n:.*c between €1 and S on a certain
ey PO% per annym for 3 years is Rs. 840
princi'pgt. o

t ). Rs. 27097
Rs. 25.W
(D} Rs, 14587

wi

R:zx'z E“ELTI;”;HI m7mai wiki dee»«t,
Years at 2% per anpum?
(A) Rs.408
(.M) AN 4o
(C) Rs. 37s
(D) Rs 425

a deht of

d at 5% luss while restare sald

&t 10% profie. 7 i
LI there is g topal profit q&g.s. 35, find the

waorth of ponds sold,

T
Eixﬁ.-mﬁl-ﬁit}?&ﬁﬁlmﬁﬂ‘ﬁﬁﬁ

21, @G TR 3 26 AT 10% AR 6 s,
T woi) A T RAO B | e e e
{A) 12765 T
(B) 2707 Gl
(C) 25546 B
(12) 14567 B!

22, TR 25 ot A = 5 A WA 1216 Gy g
ER-TE N e 2
(A) 400 Gre
(B} 430, .
() 37S
(D) 4255
23, & 1 b o
{?{%ﬁxﬂm 30% FaFy E T :'(H:SL_‘%, HFHE&'?I: A
T et e e

(2 ¥
(A] Rs. 9gg G ;:f @ ), gy oz
B) /b V’j AT (A} 928 5
c1100 L 0 Rl ;} ey (B) 550 Sy
f+] Rs. leeo o g (© 1100 B
2 ,ﬂf};;“f (D) 1000 Br
E:u.st.;:;:rfruc 102 reduction of 205, i, prices o J'n{nfiﬁ:' i
can . . : L%, &
What is the m];:::;hise S Iuffing more for ‘RE:FEU_ 24 AT o 200 A PETTR ey
price uf%mu;?j,ﬂ o O T oo mifg gy e ™ G871 30 Sren g
(A) Rs, 420 e B a T ARy Y T i
o (A) 4-z0ig/ % Tam e
(B) Rs. 1-25 & ¢ Ao B .
(C)’ fts, 2-yp L E*'&Z B) 125 by
©) Rs. 175 o Q_I;f'f P (C) 2-50 By
af (D) 1.75 Bry
PRRRERK ) 'l'ag u’?l‘gé'é OnuOi';l':i OLP;‘ Ulayofi oF 1s. 5 i
BAEAL IS tt« 6000 wpseay AR
) o Torm , D = 4
(A) 8199p & F}}&fw PR B% 14 ey "R g m:;ri?m 1B% @
2]
(B) 80009 L) (4) 81999
(C) 79R45 o o } BOoop
(D) 72564 £ (C) 79845
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26. Sin'A-CostA=7
] ? k- .'
(A) [Sin"A—CosAl|2—5in*A Cos?A|
(B) Sin'A - Cos A

2
(€ tfiln*A—C0 s A \—2Sin®g Cospt

iy WS \
(D) |‘im A E‘nbﬁﬁl—ﬁin%\&:szﬁj

"Giws im —8in45° Sin60° =7,
{iﬁ? o
"'-. s

R -

. 241 y
,r"ﬁ'.'_r .\‘|_i_
. ‘\I iy Ja A
- u;_'x-"?\:%’
\\uﬂx. 28. Sec(270" - A)Sue(90”—A)— 2jﬂ°—A)
f:\) 1 ?.:—'C}_"" @; P
® -1 & Pl
(C) Sec’A4tan’ A %‘;{f ,5.
(D)D e A
e

29. Clive Int. EA 4—afsxt JA-/ 3ZB- 4]C,
jJt a trjaog]c ASIC V ueof GB is

(A) 18°
(B) 36°
(C) 72¢
(D} 54°

'k -k

(0 1 thecsmy P D dntesion anglesiof g.qspidlingar

mony sides has it?

OF —

(© 3 =
(D) Any value more than 5

(7)

JNeI I

26. Sin'A CueA=7?

(A] tsin'A—uz*A) |t —sin*x uor'wt
(B) sin*A - Cas*A
(©) {sz;‘s—(.‘asla}

[1-28in%A Cos”a|

' i
D) [sin"a- cos"AJ[l -Sin’A CosA|

27. Cos45' Cos60° — Sin<5°§/»db° ?
(A3:0 CaydsS i)
™ 0 o
() *‘—j
™ ~ 5

27|. dcc(270” — A) 5c (9fI" —A) — taot270” — A)
cant90' -*- A}  ?

(A) 1
(B} - L
(C) Sec®A+ran’ A
(o> a
29. <R T W LA = S LA 3w

7 3/B = 42C , SR B -~ sy wn
(A) 18’
(B) 36°
0 72°
(D) 54°

3. T b g T R

tA) 4

[} 3

{D) sq «Ztt3t 01
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3. Tfihr aaighi linee'bi<h bin  aae czie aagle
ate a o\anglc is pazaltc( o tbc opposite side, *

{A) ecquilateral
TB) isosceJes

(D) scalenc

32, If from any point in the bisector of &n angle a
straight line is drawn parallel to either of the tao arms of
the angle the wangle dhws formed 15

(A) equilateral ‘,:_--

@) isosceies /-'/ "/4 g E.
( right-aztpJe ¥ " _ﬁ
£ ! -

33. Theunits used inboth sexagesimal and centesimal
system of measurements are

{A) radian, depres
(B) degree. second
{C) munute, second

< A

M. ABC is an equilateral triangle of which each
side=2m units and the perpendicular from any verex o
the opposite side is = p. The value of p in terms of m is:

%

(B} 3m
35. If in a wriangle of sides a, b, ¢, g = m? _,,:

() mJ'
b=2mn, c=m?+ n? the relationship between a, b, and
r will be

{(A) e =(a+ By
(B} =gty 2
(C) ﬂl=b:+[_-?-
D) =gty

e ATl l‘f"?w’:‘:f

3L
TET T fulrz TR AL

(Cy 7=

o i o S o

1z e T FEE T =
. 5 B » T s PR

e ST T REY R LN AV F ;

LA s A

- -

(A} 7EeE
(B T=Eew
{':.J PRSEY -

-~ —_

33, TR st (FGERTE TR SET S LILE
= pemns wrede wEh Ay F"L"',—'?

(A} refeee=, B2

34, ABC % (=392 2ma=’ amz T 2 e om
CET=I= “m?"- (5 Bedr wue TEE WG Eew

ﬁﬂ""'?: ST ST eA
(A} 2m
mj 3<
(Cj I'!I\E
fDj os 3

33, a, vb_, e-S% ﬁ:ﬂﬁ”jﬂrm&
b=2mn, ¢ = mi 2 ber, b & pocm -,F},....ﬁ._,f,_
(A) E=(a4pp
(B) =y
() al= gl 2
(D) =gty 2

PO =t -

L
gcollegedunlas
India’s largest Student Review Platform

~



collegedunia:

India’s largest Student Review Platform



36, In a circle of 5 cm, radius, there are two chords
8cm- 16 cox ta I<nph, Cacuct ps py h

tysaciieey haai th cenoc
(A) 4,7
(B) 3,4
(C)5,4
iD) 5,3

ABCD is g parallelogram. A circle is passing
through B, c. D and intersecting AB at E. If
<DAE = 65°, then find 2CDE

(A} hS*
(B} 55¢
() IO’
(D) 40’

[04gcei needfeiliatc«nLrpia din meyljnder

0* rediur Junit and hCighE/z un Atm is — . {in units)
(A) yar +n
£ & s
N o4 'ht
(B) \||3r.2 -I-]'JE O k ' ,_'Q-:F i :_,l\\;

o
(Y, -

+  *fiua/+ nd @Ui]ateral tfiang[c arc ioscri
« * N]c. If a args b dcnofe fhe Jengths or Iftcfi sides
*ii>e]y. The relation between a and 6 is

(A) 2a* = i
(B) 24 =34t
(C) o =247
(D) 30"'=2&

¥ SR T eSrm B eariis

) Fa s
(A) 4,3
iC) 5.4
D) 5.3

37. ABCD s=f7=ve= B, C s D =B
AB F E RN & T3 P /DAE=-65" == T
/CDE-R =%z

[A) B5°
(B) 35°
(CJ 50

B, rese T h ey SRt mrrr e o

(A) 4r1 - E:z

® 37 y?

(€ \f3:? 3y

.

.|D} \II"'"TE _.hz
39, =W cotfmem formmme Bem
IAN 21 .
B} 15 P
Cy 18
{D> I

40. = qren wyrg o= 2ow ¢ 28w G
A P VTR a 8 b @ G e T e v
(A) 200 &
(> »=»P
(C) 0’= 26
(D) 3a% =2
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JM-T7 \’:;_ - . (10}
- F:"a"{{—}."' . - - F =t .
4L Ifx" < 172 + 16 =0, then find 1 w )5}; the 4L 4 2~ 172 + 16 = 0 9, TER £% Al
&q TS, > -~ e m di';,'?fg b3 Bt 2 WAy
b "
(A) 9 L oy . ,“"‘,.x' (A) 9
(B) 33 YK S A (B} 33
H—J)/ é&h
(CJ 289 ~ S (C} 289
(D} 34 Bt (D) 34

-

. ,In the ﬁgun?, ABCD 5 c¥chic quadrilateral O is
UIC centy+ of ih> cirele’ ¢ ZOAD =307 and
Z0CD =20°, then find LABC

(A) 50 .
(B) 120° Ry,
- 6'&' 1
iy o13o i ¥
(D) 80 r;/ /O
43, Iff, ¢ and v.rn::'ﬂ:hfe.s:nt Ehc nurrsher y - =so»T

faces, number of edges angt

; ber of vertices
respectively of a culwiid, thenhe

of f+ e +vis

(2) 20 s I
(B) 30 LK
ox L, L

S e

4. If A and B arc two supplementary angles, then

sec’A —an’B = I
Ye? o
@1 R
1 . (o L=
v c
(C) 2 /Lfrﬂ '1-‘-3 .
(Dj - 1 i

45, ABC is a right isosceles triangle, right angled ut
B. Then Sin’A + Cos’C =

(A) 1

1
© F

(D) 0

4>, da.ecn «eg r« s59e. st+ "= o1

X030"= 30°N¢ U«U=Z& V. @« JFFF¥*=
D

(A) 60°

fB) 120"
(Cy 1307
(D) 8u’

43. a7t RETmmen o, S o e W 19t
L8 ST v A F 4 e+ v-a9 w7
(A} 20

of ao

TR fec’A —aanB = !
(A) O
(B) 1
(C) 2

45. ABC 97ff swrand swiap
‘ETI?'ﬁ Sin®A + Cos’C = 4B

, I
—

(A) 1
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(11)

46. Il sin A :L;- and A is not in the 1stquadrant, then
. cosA +sinlA -_ - o
md “n A +sec A & R o
1 . ' t". L - v
Ay 1T L%
(Al 5e . :
T
(B) ]-Q . H_‘l q-\,}
15 .-"'} "\,_' L]
22 v R L%
(«) 25 R
T

47, ’tic area ofa triangle loomed by cu-nrJina eaxes
wittt the Useoz+ ' —- Uis

N R

By 5np

€ ZLab-

CotA Cos A _

g, CotA+Cos A
CotA-I-Cos A

"#%¥  Cot A Cos A
'I::DI A —Cﬂﬁaﬂb

Cot A Cos A

Cos A—Cot A

{{:] CDTJ‘LCN A

CorA CosA
(D] COSA—CetA

«s. Tee dincence bcco«nincte”*ce®e®AB*"Or°
rightangled triangle is %?f radians. Express the angles in
dexcs,

(A) 18,22
tB) 27, 63
(C) 9,81

IM-17
|

46. 1T gin A = ; o A A 2 g o e,

- E{:’E‘I‘?\ tq;:j: o | R E- B T
1
() 1
(€ 52
o %

47. o) WHF G ax + by + ¢ = () % iz freree
IRz WA
(Al —¢

() Eab_

' 2ub

Cot A Cos A
" Cot A-I-Cos A " "

Cora -i-Cos A
(A) Cor A Cue A

Cot A —Cos &
e] Cat A CosA

Cos A—Cot A

© cuptma,
(D)

B e |

E T L R

Fofire o oo o e

(D) 36, 54
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lot A CosA

C09@ — Dt

(A) 18, T2
(B) 27,63
(c) 9,at
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g nf a carriag'e wheel i+ St 1U, BDd i i

b ofa second it tumB thloUgh BO" ab.out ccnue, 'hicb
rixcd,- bo* many km. does

wfioct zraye1 in one hoi r-’

(A) Approximately’ 32 km,

@) Approzimztcly TO km.

(C)” Approxizaatcly 230 tza.

IN) Approximately 23 km-

point un the m of ihr

51. For what values of a and b, the two equations

Sx+8y=7 and (a4 bix+(a-by=(2a+hb~-1) have
infinite no. of solutions

{4 70’ z
o i1

©) 9'3
39

' 2'26

52, If ploe3® | qgloged _glore? | then xis
(A} 9
(B) 3
(€ 8

53. Ifeight cubes are stacked to form a big cube then
find"tlic pcrcen;oge decrease in the total surface aren
(A} 40&
(8) 30K
(C) 50%

SP Tbc Sian of hint 16 prime number is
(A) 12

(Cj 74
(0>IIH»IH

50, gai wenEE sreE T 50 R, 72 FEE A (3
e SRS TSR % st &N° WSS 7 | Sila [amma
Tof w@fy 2w 1 Wb T ey Hiee™ T

(A) =9 32 Al
(B) = 50 f+5
(C) =ro 230 ff,
(D) =m 23 e,

51, g & b-an @79 wGre o, Sx+By=7 49
(ﬂ—:bﬁx‘-(ﬂ*b)y={2a-+£:+]).ﬂ"i‘iﬁflﬁ‘l“?ﬂmﬂﬁm
LA T AT

9 -3

53. T BT & e a7 Ie 9ol T wae tefi = am
fi

(A) 40R
(B} 30&
(C) 505

54, #uw 1600 CTferg Resra s zm
{A) 12

(Cj 24
I*) 30.

L]
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(13) 17

;S If 9— |<2—7%x,tijd iMrang» of e , 55, W |9-x|<2-3x 5, A TR (e R)
iA) («,0) A) ¢ ,0)
(B) [-mrzzil (B) Hﬂ.—él
(Cy (-16,8) (C} (-16,8)
(D} {~ee,-3) @) ( -3}

56, Fufe el fum A
(A) 2 —]1=2x"+4

56. Which of the following is & quadratic equation?
(A) x* -1=2x" +4
G B 2 4=
B ¥ EFE (B) "
() 2xf 4 3fx+4=0 C) 222 +3Jx+4=0

ns) »—2-==2 g

57. Iftheequation ax® — $x+¢ =0 has 10asthesum 57. T ar® —Sx+c=0 FNFAHT IATR @TER S
of roots and also as the product of the roots, which of the vt B=g, 10 70, o e omh fo

following is tmc? () g =%
A a—-l c=5

( 21 {B] a:ﬁ,c:r:l-
1

(B} &= ,r:‘.=E (L8] T2t =3

(C) a=2,c=3 @} a=3,c=2
(D) a=3,¢=2

(f & num bzy i6 BS £ £i pa Uol fnom the 58, I ARSI | (a0 1 002 W @il U (AT

wrE Wl 10-47 offes Zeum AEER)
»«mbcr, ,i'or» i to i4o. 'f'en e*°" is t*e pro°°bil'* RN, 7 e 1 " :

the it is 2 multip]e ol 10* 1
(A) 3

(A) — 0l 1
> 24

(By 29 g (¢ 1

€ . 1

o
o L (° 1o

10

L]
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India’s largest Student Review Platform
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7 IM-I7 (1)
89, IF 60% of & is 60 more than 605 of 40, then a9,
e
(A) 94 {A) 94
(B} 90 (18}
C SS [C)
(DI 97 Dy a2

60, 1If v= < x and v e (=, 0) then y must
(A} be positive
(BY have no real value
(C!' bd Mcjotia"«
D1 h'ozte of” ihg ahm'e

6l. Complete the following series:

- , 360,286,224, __
AL Ifi0 1
ts“-:." ¢cgj HU g |
§- 1« Bu

y1>1 (D} 16B

62. Cnmplel:‘th following-series;
1

5 1 1 ll_.l"'.f. :E-:' ll
713419 9] 2o
> S5 V

(A) 7

51
(B) T
(C) —

37

31
(D) N

El In a certain code language, if FRAME = 48, and
LE=74 IB«a NGMZNT z ?

§
4 U
4 o
1.1 ’1
¥L 4

iﬁ %)

R

3
www.recruitment.guru

T L RV C L ey RN o) I A B E R
(A} Hatef
(B Gl atea HeEl o

(DY Befrra ceAing w1

61, FRufafie cfSh s aom ¢
440, 56U, 288, 224,
(A) Ifilt
(B) 14
() Iho
(D) 108

62. Fraffre =l A a7 .
N N

A 1139 23

113719729

( ) 37
31
35
3l
¥ 37

3l

Dy —
(}133

(B)

63. A <3l g WY FRAME = 48 am
HERDLE 74 wpm FigMENT

“ {A) 89
(8) 74
7D (C)
¢
A i g—l".L .
3 Y



id. What is the minimum no. of cuts required wa cot
a cube inta 216 identical pieces of cube?
(A) 36
(R) 14
() 12
(D) 15

65. All mathematical reasoning is founded on cemain
simple principles, the wruth of which is so evident that
they are accepted without proof. These sell-evident
truths are called

(A} Theorem
(B} Hypothesis
() Law

(D Axiom

66, The diffe.crce of LOM, and H.C.F, of 210 and
55 is expressed as 210x6+55y. What is the value of 37
(A) 6859
(B) 19
(C) 55
(D) J6i

67. A girl of height 90 cm is walking away from the
base of a lamp post at a speed of 1-2 misec. If the lamp
is 3.6 m above the ground, find the length of the girl's
shadow after 4 seconds.

(A) 48 m
By 1-2m
(C) 3-6m E3
(D) 16m

'CﬁifOA=z—4.
— $,fInd z, thtrc O

61s Ina wapcziarn ABCD, AB *
$2 =3z- 19,0F =4and0D=
IF the meeting point of its d «-good

(A) No'othér is’oorratt
(B) 9n+s

(C) lzxits

(D} 10 units

64, £ wTEE IR T AT F0 2168 v
‘ s AT WA E
(A) 36
(B) IB
(C) 12
(D) 15

65. TR g e g Pees oo fefe T I
£3 g AT LT T S nivg AT ZTTEE TR |42

|
{A) Teemm=

{B) TEmena==
Cy =
(D) e

66, 210 0% 55 SEFH AW A5, & AV WIS

210%6455y | y3-07 TR =TT 1
H (A) 6B59

(B) 19

(C) 55

f0j 361

67. 90 7fa T L6 T oS TS (sl
cars 1.2 T =f s e T B sreie T
3.6 . @ o 4 o e el waw i me

(A) 4-8m
@ 12.m-
(C) 316
0)

68. ABCD AB- CIDIIO m
1 0A z-4.0B=AZ-19,0C 4
0D = x — 3 @0 T09A x-4% T FT!
(A) &= (b 8
(B) 9=
(C) J2-

{05 JO
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69. If for a given data median is 125-6 and mean is
T28, fihd mode.
(A) 1280

(By 120-8
(C) 10¥-2
(D) *t8D-2

70. s mother’sbrothcr’>n’sraotbcri. <
to Ramu's maternal aunt as
(A) Sister-in-law
(B) Aunt
{C) Cousin

71. Onc moming, Ram and Shyam were talking,
facing each other. It was observed that Raw's shadow
dcli to his 1zin Then wkiCb d?reCtiOn svas Shyam fBcing?

(A) i
(B} South
{C) Nornh-East

71 HowormyJep; swMGminue-handmom,
iotbeaaroe dna io wkich Ihosecond-baad moves 3fXK'?

(A) 5° R
fﬂ} |5‘° Il
(C) 4° ':P'-"$
loj IP*® P

72. I InJiei'ary anz u-on-sundxf, oen whei aay
of the week is 1st January, 20167

{A) Friday
( ) N"/\t’)
(D) Saturday
) 11"
! e
‘-,:t‘. -~ 1
ey .-\‘_*L- L
P :'{{x,u.{

69, =B RfEwm 125.6 ume o | 28 7 e
(A) J2g U
($) [20-8
« 062
(D) 1802

7t|. ”n ”n ”n *'
(A) FTgaL

{H)
(C) Egte’ =R

(I}
wmfE-wrE

T, - AT 1l e =R g e R
wyl ©F FTE AT | S I SR Ty e
t)
(B) =P
(C) Tz o

(D) = 0
ik

12. ¢ 3A7 rm va
fisfg I
(A) 5¢
e) a'
(D 4'
(D) 10°

7z. As 2niz wpw i,; 0;9-0 ipds 49 wmrm
2016 A= 19 W) weirey @i o
(A) azm

«) _
(D) =%

4

U
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(17)

24, Fnd the resnzinder when $° —13x° < 211 —14

14
= -'7- what is the value

76. Ore condition for collinearity of the three points
(a.5),(5.a) == (a* —6’1) is that

77. If log zx=a thenthe valueof Jog, = x 15

(A) 3a
{B) @
(C) 2a

a

(D)'3"

78, 1f 77 =512, then find the minimum possible
valneof prgrr wh:f{cp.qmdrmpmi!ivcmw.
(A) 12 v

IM.17
T4 SO =132 4200 =14 @ 3224 F Gorp e
WETH L B1a IAAy
(A) <15
(B) -5
{C) -10
(D) 5

5-5' B eEnE

75. 7 dx~Sy=5 &4t
X y-LAWH TER
(A} 9
(B) 4
(C) 3
(D) 5

(x+y)

76. (a,b),(b,0) 9 (a° - b?) <& Fo= fagz 7aze
zeTm w7l f
(A) a+b=I
(B a+b=2
(€) a-b=1
(D) a-b=2

77. 7 log g x=a T, VLA log, ;5 ¥~5% ¥= Fe
LI 4
(A) 3a
(B) a
(C) 2a

D) -
D 3

78, T p" =512 T, TN pxgxr -7 e T

p,qmrmm\
(A) 12
(B) 18
(C) 24
(D) 15
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79. (Ingm 20+ log,, 5}(10g3 16+ logg 4) ="
(AT |
(R) 3
€ 2
(D) 4

T (1 +mJ2-|

@. The distance of rhc pnint T -
L+m 14 m _|

from the point (1. 1) is

(B) z

l+m

{C) 1

D)

m

81. O is the onthocentre of a tiangle ApC. if
£LBOC = 100° then measure of #BAC is

W&’
@”0°
(Y
(D} 70° N

82, The medians of a triangle arc 9, 12 and 15 cm
long. Find the area of the triangle,

{A) 54 sgcm
E) 72@cm

C) 144 sgem

(18 )

T4. (In'glﬂ Eﬂ-o-]Ugln_qN'jOgr: 16+ l”EH 4-} =7

x) |
/6 3
Q) 2
(D) 4

i Y2 I{:1+.ﬂu'}2 )
B0, (1, 1) 5 s e i
l=m" 1+m
(A) m
(B) l~'—m“"'_
(C)

81. ARC figm O TulRs w7t LBOC
ZBAC~cqa v 3=
fA) 4t1°
(B) 5tl°
(Ul 80°
(Dt 70¢

1007 ==,

82. = fgrem ol warm o 9, 12 e 15 &%)

fre=ts coom oo

(A) 54 2
(B)72 /
(C) 144 ¢4
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$3. inae fisuz Diath <oia-xiic.coFAB or&c
and E is the mid-point of BC. 1If AC = 4v + 10, which

expression represents DE? B
(A) 2v+3
(B) x+25
() x+ 5
(D) x+ 10 -:_]_,hg
iy
SURVG SN
84, IFPGI‘— 1 what is the value %g%’ﬁ
PR, 3T MY
1*-1‘*"1_[ b+ger l+r+p~' 25
(*) 0
(B) 1
() 2 x e\‘i .L*’ f]_r
(o) - Y@ e

ﬁ“% o

i ]
RS, the si I}ugl’i of theTlargest possible cone
t bamlacm\d ma henua/ ol y olum: 144 kemd.

v"_ m.,;\— 'LI:*
Dy
(8} E,J— em
o o1 el ce e
4 H A meaicxl ofradius tBem 3 hgight
3m is melted and recast intg g sphere, Find the radius
ere,
(A) 1010 cm '
(B} 10 cm %"‘f‘" = \‘-k‘“t)i" |
: .
(© (103 Jos
(10)* cm v o X%
D) 8cm A
v 22 A £
g

@f_\ # ,{_G 7

u. sa wac AB @ BC v Zurfin querayey

D E 1 AC=4dx + 10 %3, S DE-3 O W T

(A) 2 +5
(B) x+2:5
(C) x+3

(D) x+ 1D

84. o pgr = 1 %8,

1+ p+g*
(AY O
(B) 1
tO z
(D) —1

[+¢ +1r*'  1+r+ p*

B5, 144 nmﬁnﬂm‘ﬂ&qﬂﬁmmmmﬁﬁi g
T Tt = s A

(A) &2 o

)7 W
(D) 62 @i

86. 10 o MY qm 2 o Twoffy aef =i

5
NI T S D ot TR R | ot g
foefar =z

(A) 10410 =
(B} 10 o
|

(C) (10)* M
(D) 8@

-3 3
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JM-I7

87. The surface area of a football of very thin outer

sgrfas is Ivor ct. Find the volttaes of air in ii-

tA) —z cm*

{B) mem?
500

401
I . mcm?

88, If 3xr+ 2y =18 wherexand v are positive integers,
Ibcn the roiximuce value ofxy is
(A) 6
(B)" 4
(Ch 8
(D) 2

ape, /mgdi 39¢coi, is cM iak ] cquaj picccs
Bfit eB60 pIBOe Is uBed ce ce/ kc a oit Ic, an cquijatcraj
tziaagie aod a square, wbi¢h shape bft8 tbe [grgesi ae-ca?

(A} Circle ¢
@) SquBzc {;” 3 d x"jl ,x'f
(C} Triangle £ H‘ £

3 -
tD/ & ceguu "‘_uf'

SEye

20: In the given figure AB=BC, AD=DC, #B and

<E are right angle, Find AB i
{A) 5
1
(B) 57 0 ‘ 5
(C) &
1
(D) 2\"5 3 c

(20)

B7. el = o1 AT eaenyE ToAETA AL w
ogice 100X 2o @ | FEEE e algs wss ¥

24

(A) o o .

BB, xEwTE y Hw
W IT
(A) 6
(B) d
(C] 8
(m 2

ot ERRTA O dx + 2y =8 A a-a7

u{a: %
G/k yy "]

8s. 396@s@ax=cnBa1efigazq'«1g,A, egaa
T8, e S e frgw o == fm asi ﬁﬂcw?ﬁ'%
T4l 257 | BT CHRIFH HOETS WA Y
(A) 74
(B) Aoy
(C) e
(1) FEafia caemrs snrm

|."-|_.l‘l|

9. fber AR=BC, AD=DC, 7B ¢ /FE wumms | AR=?

a5 A
(B} 5.7 .
(C} & D [;
(D} 2.5 q

C
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FT' s E_ -::' 3
N (21) ek
e B;Emf;ﬁimma?"mcmmm‘m“t5~tuPp:ng y), cemm TR £FEEN fE AT TS I
&t d kwh
rlrf.t;w’h}rt towg the e Q e mIIGWFg“ﬁFP"‘f mm éxnm iy fmﬁgg""n?ﬂgﬁﬁ’?ﬁ i
distanct he walkn ? SN s
=" |A} 18 Km ke
(By 135 km .3 h ((,?6 .
(C) @ km 5 1“ ﬁ;ﬁ
(p) 12 km i_g:; Q

&Jc1

92, Tn a continuous frequency distribution table the

-nine the luwecr class Boundary.
(AY Zm+u
(BY m+u
(CT Zo-o
(D) m- «

91 Ifah side of an cdullateral triangle is doubled

ten itsareainertiaby 12 2 qm. The . tgtb nfts°°h
iidé of triangle is

G £
™) 1o P! &’
(B) 2in > ‘*-;,
@4n B GrE
(D) 3ia 5 5 s _&—-
%h&ﬁﬁzo\_

g £
94, What is the probability that the birthdays of 7::
differcntj><sonswitlfaitinexse**Y teocAl’nd* M0

3 R o
(A) E \_(_21 g ¢ -:i’fi‘-rfiw
1
'B S v
il 4 L é;f_l‘{}zc*
C) A l \(‘ &
48 gu A
o B ey
48 .

932, it i SrrRm TR Ew (R o s e
HHTRIA e 2T 2 57E

(A) 2m+u
B) m+u
V. 2m—u

M—u

ey
i

93, i AT firar rers b T e st o T

e 243 AT frmien srersl I Tl
(A) 1m
(B) 2m A
(© 4m =
(D) 3m

04, Wmhﬁwvwﬁﬂmﬁm

e ¢
52
(A) 3
1
(B) a
11
(C) ®
(I 18
.
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% A four digitnumberin harmed h'iUi the Ligl|l9, |,
2, 3,3,6a0d 1 without repefiuoit. Find the choirce tfutl
dzc member is”dlvisible by 3.

() :
5
1
i
1
m =

96. Anton speaks truth two out of [ve tmes, He
ThroM/s a die and reports <het” iE ia a You-r- Filet the
probability that it is actually ¢ t'»ur

3

(A 16
2

€

._ )

(C)

97. Find the prohability that a leap year sclected at
random will contain 53 Sundays.

AR
(A) 3

AR a3 i

2
o

p. ue»«)as.0..n=.i.<*_(i°s>_./\**l/\
fit) <zl
tB} 7]
t)
(gt gg

05. 4,2 316 .. TIEG 7ol 613l I =i A oz
| a | Bl 5 Tion Faeiey garg Al S5
1

(4] 's'

(B} r

(E2} 7

U6, e ST SO S A | (el AT
Mrs oem s's] s BW s

g

[A) E

2
(B} 7

17

97, arericoAlseE et T o= e -Twee 531 afeaa
SRFA TR
2

(A) 3

s

riO%

=d bd

w. >"4«4'e«e°R*™* as«®»*-ea«vj»
(A) T26
(B) 7
(C) 30
ID} 88
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90, Find the value of x:

ag °*! " +logy 2** = 23+ logtg z

ICH, 1I , 25Dm race,tnc chin ora«gg eei;ifBim yan8
Razoa ir 3 : a. Lf Raoi bas a suirt oE70 m..thenRam wjns

kk

MAJ I3n m
(B) 1DUm
(c) leom
(DI 120in
O T

09, -9 ¥ v wa

49'0*7 ° logaz < 7+ 10$ly a

»} 2
(C} 100
100: 250106es _ f[e 7S B W
1. CZlal¥ 70 R w2 ferETe
(A) I30 5w
(C) 150 filbr= fisma 100 (B)
tD) 120
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